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1101[XK1E EE 50 500 0 500 10 0 0 0 1404 0 756
EE 10 150 0 150 15 0 0 0 0 1080 0
GhH 60 650 0 650
1103 A 3D mE 22 220 0 220 10 0 0 0 2700 0 1944
GhH 22 220 0 220
1113|FEAS & 183 1830 0 1830
1141[54R BmE 14 70 0 70 5 0 0 0 3240 0 2160
& 3 30 0 30 10 0 0 0 1944 0 1728
GhH 17 100 0 100
12018 TRk 30 450 0 450 15 0 0 0 0 2700 0
GhH 60 900 0 900
1203|F ¥ AY EE 49 490 0 490 10 0 0 0 2160 0 1296
GhH 171 2320 0 2320
1205|[F5NAE [EE 601 240 240 0 0.4 227 0 119 0 0 0
#mE 25 100 0 100 4 0 0 0 0 2916 0
12 hel 420 84 0 84 0.2 0 0 0 0 135 0
GhH 1046 424 240 184
1207| B & EE 900 90 90 0 0.1 119 0 92 0 0 0
(&) 900 90 90 0
1209| 5% B 1 3 0 3 3 0 0 0 0 2700 0
(&) 1 3 0 3
1223| &% EE 412 124 124 0 0.3 130 0 59 0 0 0
(&) 412 124 124 0
1301[#aF mE 11 22 0 22 2 0 0 0 1350 0 1134
=40 400 120 0 120 0.3 0 0 0 0 162 0
=H 100 50 0 50 0.5 0 0 0 0 205 0
= E 34 170 0 170 5 0 0 0 2808 0 2160
(&) 545 362 0 362
1311[F<k EES 12 48 0 48 4 0 0 0 0 1512 0
[E)) 12 48 0 48
1321 [ =) 46 230 0 230 5 0 0 0 2484 0 2322
=0 72 360 0 360 5 0 0 0 2808 0 2322
=i 30 150 0 150 5 0 0 0 0 2484 0
[&0) 148 740 0 740
1351[E—<>  [&5 720 108 0 108 0.15 0 0 0 0 108 0
=ik 840 109 0 109 0.13 0 0 0 100 0 97
(&) 1560 217 0 217
1353[ Tk =0 90 9 0 9 0.1 0 0 0 0 216 0
(&) 90 9 0 9
1403| e T Nl 20 40 0 40 2 0 0 0 0 2376 0
(&) 20 40 0 40
1407 | EB T ERE 10 10 0 10 1 0 0 0 0 1404 0
(&) 10 10 0 10
1501 [ H & S 23 115 0 115 5 0 0 0 1512 0 648
(&) 23 115 0 115
1521 B ¥ ZiE 2 20 0 20 10 0 0 0 0 5940 0
(&) 2 20 0 20
1541 [ £ dbifE 510 10200 0 10200 20 0 0 0 3132 0 2268
(&) 510 10200 0 10200
1603[ L) —  [EE 3 30 0 30 10 0 0 0 0 3888 0
(&) 3 30 0 30
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1609[Javal  [&l 25 150 0 150 6 0 0 0 5616 0 4860
& 25 150 0 150
1611[LER BmE 4 40 0 40 10 0 0 0 0 3996 0
[&5) 4 40 0 40
1612 Y=L AR [fER 10 50 0 50 5 0 0 0 2700 0 2376
& 10 50 0 50
1627[3=k=k  [&EJI 300 60 0 60 0.2 0 0 0 194 0 184
S 30 90 0 90 3 0 0 0 0 2268 0
[&D) 654 244 0 244
1705| £ = = 90 9 0 9 0.1 0 0 0 0 140 0
(&) 94 25 0 25
1803 | E EE 630 63 0 63 0.1 0 0 0 184 0 140
=) 150 15 0 15 0.1 0 0 0 0 174 0
& 90 18 0 18 0.2 0 0 0 77 0 66
(&) 870 96 0 96
1807 H E% 1200 240 0 240 0.2 0 0 0 0 105 0
=% 150 45 0 45 0.3 0 0 0 0 132 0
Eh 1350 285 0 285
1809[L&L E% 500 50 0 50 0.1 0 0 0 0 72 0
% 1650 330 0 330 0.2 0 0 0 132 0 105
(&) 2150 380 0 380
* S FHET * 21241 35224 908 34316
2105|Z @A N A | FIFRIL 75 750 0 750 10 0 0 0 4320 0 3780
S 5 50 0 50 10 0 0 0 0 5184 0
GhH 80 800 0 800
2113[ R hy Bl 21 210 0 210 10 0 0 0 0 4320 0
GhH 21 210 0 210
2131 =% 6 24 0 24 4 0 0 0 0 3024 0
[&0) 6 24 0 24
2221|E & & 50 500 0 500 10 0 0 0 6156 0 5616
(&) 50 500 0 500
2441 T #fi f=1od 60 10 0 10 0.17 0 0 0 0 486 0
(&) 60 10 0 10
2811|& A 100 25 0 25 0.25 0 0 0 0 605 0
(&) 100 25 0 25
2823|F%—oq |EiR 12 42 0 42 35 0 0 0 0 2862 0
(&) 42 342 0 342
* S FEET * 688 3522 0 3522




